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No.24 BF 50m HFik= A LL—RRE RELHR 34.49
L 10ELLTF >
B K& 4 & PE KR B E
1 s #E BIGT 3 ! 2/ T 43. 36 65% ( 0.72)
2 BH EREK BIGT 3 /I 1/ 7 49.97 5#% ( 0.76)
3 WNHA—ER BIGH» L /N4 1/ 2 51.18 ( 0.67)
4 BRI)INEK BIGTS ! 1/ 4 52. 06 ( 0.66)
OPN [T #rsk A~k ! 3/ 2 37.65 Stk ( 0.60)
OPN FEe ER#E INZ IR e /NG 2/ 4 39. 68 65% ( 0.68)
OPN fnpk 7%t A h~ K /N4 2/ 3 40. 55 65% ( 0.73)
OPN A4k B2 BiES S /N4 2/ 2 41.32 5#%% ( 0.65)
OPN HH &4E A ~~ okt ! 2/ 6 42. 21 5%%  ( 0.70)
OPN BRI #&5 ASZJEP:s /N4 1/ 5 43.19 6% ( 0.69)
OPN f&H  HARG INZ IR s /N3 1/ 3 43. 51 9%% ( 0.69)
OPN JnpE 1% H VASZ J=Eie /N2 1/ 6 44. 31 8t ( 0.57)
No.24 BF 50m HFik=z BALL—R R AR 30.76
L1112 >
BRI K 4 T & SE KR B E
1 faH  $AF BIGHR 1% NG 3/ 1 40. 95 1% ( 0.83)
2 )1l 72 BIGH~» T NG 3/ 8 41.12 3tk ( 0.63)
3 Nk ERpE BIGT X /N5 3/ 7 48. 14 ( 0.60)
OPN ffix #E+L ISz JEPEe NG 4/ 7 33.18 9%% ( 0.53)
OPN JNfEIE 2 4> ISeZ =it /NG 3/ 6 34. 69 8#% ( 0.67)
OPN Ffg4d: ik F#:S S NG 3/ 3 35.70 6% ( 0.60)
OPN HJR itk ISZ J=EEs NG 4/ 8 35.96 5%k ( 0.58)
No. 24 5B+ 50m B A LL—R R A&HEHE 20.78
L 13- 14 >
B K& 4 T & PE K BF E
1 R AEK KTPoAN 2 4/ 6 30. 92 %% ( 0.70)
2 HH AR BIGHHE 12 3/ 4 35.23 3% (0.59)
OPN ik KI&E VANOZ Ik 2= Ml 4/ 2 33.90 5%%  ( 0.60)
No.24 BF 50m &k 8 A L L—R R KERE  20.00
L 15FULE >
B K 4 T & PE KR B FE
1 AT EfE KTPDSAM)N =2 4/ 5 29. 39 7#%  (0.55)
OPN A K W =3 4/ 4 29. 04 8% ( 0.59)
OPN %&mMH G A = 4/ 3 30.09 7#% ( 0.55)
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